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Allowance Dilemma #3
For your allowance each week, you have 2 choices:

	1)  Take $30
	

	            or
	

	2)  Draw 2 bills, one at a time without replacement, from a bag with three fives, a twenty, and a fifty.


	


a)  What is your initial choice?  (Circle one.)   A    or   B

b)  Make a tree diagram for the above situation.  Label the probabilities on all branches.  Write the total $ at the bottom of each path.  

1st Bill:

P ($5) = ____  P ($20) = ____  P ($50) = ____  

2nd Bill:

	i)  If the first bill was $5, then 

P ($5) = ____  P ($20) = ____  

P ($50) = ____  
	ii)  If the first bill was $20, then 

P ($5) = ____  P ($50) = ____  


	iii)  If the first bill was $50, then 

P ($5) = ____  P ($20) = ____  




  



c)  Determine the sample space.  S = {___________________________}

	P (______) = 


	P (______) =

	P (______) = 


	P (______) =


d)  Determine the expected value.

E(________) =

Which choice, A or B, is a better deal in the long run?    A    or     B

PM 68 – 70 Worksheet
Double Spin is a new twist on the Wheel of Few Bucks.  You spin twice and only win if the two spins match.  The wheel has the following probabilities:

	P ($10) = 
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	P ($5) =
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	P ($1) = 
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	P ($100) = 
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a)  Make an area model.  

b)  What is the probability of winning $100?
P (win $100) =

c)  What is the probability of winning anything at all?
P (win anything) =  ____+ ____ + ____ + ____ 



   = _____________
d)  What is the expected value for a winner of this game?
E(Game) = (______)(______) + (______)(______) + (______)(______) + (______)(______)

    = _______________ 
e)  If the game cots $3.00, should you play?

You shoot a free-throw shot. You only get to try again if you make the first shot. You have a 70% free-throw percentage. 

a)  What do you think is most likely? (Choose one)     0 points     OR     1 point    OR     2 points
b)  Label the probabilities on each branch.


c)  Write the points earned at the end of each branch.


d)  Based on your tree, determine the following probabilities:
	P (0 points) = 
	P (1 point) =
	P (2 points) =


e)  What is your expected value?

E(_________) = (_______)(_______) + (_______)(_______) + (_______)(_______)



= _______________ 

f)  What is the difference between “most likely” and “expected value?”
Delilah has a 60% free–throw average.   
a)  What would be the most likely result when she shoots one–and–one?
b)  Make and area model for all possible outcomes.

P (0 points) = 

P (1 point) = 

P (2 points) = 

c)  What is the expected value?  Set up the problem and solve it.    

E(_________) = 
d)  If she played 100 times, how many total points would she expect?

e)  What would her average–per–game be?

Mixed Review 

	1.  Determine the equation for the following graphs.  

	a)  

Equation:


	b)  

Equation:


	c)  

Equation:



	d)  
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Equation:

	e)  
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2.  Consider a deck of 52 playing cards.  Determine the following probabilities.  Recall that there are:

	· 4 suits (♠, ♣, ♥, ♦)


	· ♥ and ♦ are red, ♠ and ♣ are black

	· 13 cards in each suit (2, 3, 4, 5, 6, 7, 8, 9, 10, J, Q K, A)
	· four of each type of card (e.g., four 2’s, four 3’s)


	P (black) = 


	P (king | spades) = 

	P (spade | black) = 


	P (3 or 5 | spades) = 



	P (2 | black) = 


	P (not a face card | spades) = 



	P (face card | black) = 


	P (6 of diamonds | spades) = 
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